Tree -1

3 groups
Node O

Category % n
neither failure 26.62 156
nor success
success 60.58 355 |
failure 12.80 75
Total (100.00) 586

Able to speak Catalan
improvement = 0.0213

< 4|1.5 > |4.5

Node 1 Node 2
Category % n Category % n
neither failure 43.36 49 neither failure 22.62 107
Nnor success nor success
success 37.17 42 success 66.17 313 |
failure 19.47 22 failure 11.21 53
Total (19.28) 113 Total (80.72) 473

Q13. How many sessions have you
attended? Pair 1
Improvement = 0.0065

Spanish; Spanish and another language
other than Catalan

Between 5 and 10; Less than 5;
Between 11 and 15

More than 20; Between 16 and 20

Node 3 Node 4
Category % n Category % n
neither failure 24.46 91 neither failure 15.84 16
nor success nor success
success 62.37 232 | success 80.20 81 |
failure 13.17 49 failure 3.96 4
Total (63.48) 372 Total (17.24) 101

What is the language you habitually use?

improvement = 0.0049

Catalan and another; Catalan; Others

Node 6 Node 5
Category % n Category % n
neither failure 26.49 80 neither failure 15.71 11
nor success nor success
success 58.94 178 success 77.14 54
failure 14.57 44 failure 7.14 5
Total (51.54) 302 Total (11.95) 70
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